\ Shri Shankaracharya Institute of Professiohal Management & Technology

Department of Electronics and Telecommunication Engineering

SSA'PMT Class Test —1 Session- Jan. — June, 2020 Month- February

g RATPUR = Sem- ET&T 4" Subject- Numerical Analysis Using C - 328451(28)
Time Allowed: 2 hrs  Max Marks: 40

Note: - Attempt any 5 question. All questions carry equal marks.

Levels of
Q. NO. Questions Marks Bloom’s COs
' R R o taxonomy
Describe various data types used in C. Illustrate their declaration and usage
1. with appropriate example. [8]  Understanding ~ COl
5 - Write a program to design a menu driven calculator using switch case i8] apily o1
statement.
3. Write a program to find the Armstrong number [8] Apply CO1
4. Writea program to find greatest of three numbers 8] Apply Col1
1 secti V10 s of |
Apply Bisection method and find value of correct upto 3 places of
5. decimals. - 8 Apply co1
. Applying Regula — Falsi method, find the smallest positive root of | “
L L2 x> —log,x—12=0 (8] Apply col1
, correct upto three decimal places.
Apply Newton - Raphsons method, find a root of the equation
7. xsinx+cosx =0 ,which is near ¥ = 7 correct upto 6 places. (8] : Apply col
8. Write a pr‘o"gr'am to verify whether the number is palindi"ome or not. T (8] Abply COI
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. Describe various data types used in C. Illustrate their declaration and usage
1. With appropriate example_ [8] Understanding COl
5  Write a program to design a menu driven calculator using switch case i8] Apply a6
statement.
3. Write a program to find the Armstrong number (8] Apply CO1
4. Write a program to find greatest of three numbers [8] Apply CO1
: —— . AT <
Apply Bisection method and find value of V'Y correct upto 3 places of
3. decimals. LI Apply col
Applying Regula — Falsi method, find the smallest positive root of
6. xpﬁ_)?; gx 12g 0 P [8] Apply CO1
g ', correct upto three decimal places. :
Apply Newton — Raphsons method, find a root of the equation
7. xsinx+cosx =0 ,which is near ¥ = 7 correct upto 6 places. (8] Apply col
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Shri Shankaracharya Institute of Professional Management & Technology
7 Department of Electronics and Telecommunication Engineering
dﬁ?ﬁ? * Class Test —I Session- Jan. — June, 2020 Month- February
{ Sem- ET&T 4™ Subject- Electromagnetic Fields & Transmission Lines- 328456(28)

Time Allowed: 2 hrs Max Marks: 40
Note: - Attempt any 5 question. All questions carry equal marks.

Levels of
Q. NO. Questions Marks Bloom’s COs
P taxonomy
1. Express the vector B = 170a_,' + 1 cos@ay + ag in cylindrical co-ordinate system. [8] Apply CO1
2 Two pO}nt changer Q1.=2 nC& Qy=4nCare loc_ated at (1.1.1) & (1.0.0) respectively. 8] Apply co1
Determine the potontail at P (1.1.0) due to the point change:
. Prove that the electric field due to a uniform infinite line change is given ny
3. = Pp A [8] Understanding . COl1
E= a, v/im
2mpr
Three uniform infinite sheets of change are located in free space as follows:
g @3 nC/m? at z=-4  (ii) 6nC/m? at z=1 (iii) -8nC/m” at z=4 i8] Apply o
" Find E at points:
(@) Pa(2,5,-5) (b) Pp(4,2,-3) (c) P«(-1,-5,2) (d) Pp(-2,4,5)
\; 5. Find electric field due to infite sheet change. [8] | Understanding - ol
A Line change density of 24 nC/m is located in free space on the line y=1, z=2.
. (b) what point change Q should be located at Q (-3,4,1) to couse Ey to be equal to zero
atP.
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Levels of
Q. NO. Questions Marks Bloom’s COs
‘ taxonomy
, POR Express the vector B = ITO'a—,' + 7 cos@ag + ag in cylindrical co-ordinate system. [8] Apply Co1
2 Two po.mt changer Q1.=2 nC & Q=4 nCare loc.ated at (1.1.1) & (1.0.0) respectively. 8] Apply col
- Determine the potontail at P (1.1.0) due to the point change:
. Prove that the electric field due to a uniform infinite line change is given ny .
3. = Py A [8] Understanding . CO1
E = a, vim
: znpr S -
Three uniform infinite sheets of change are located in free space as follows:
A (i) 3nC/m* at z=-4  (ii) 6nC/m? at z=1 (iii) -8nC/m” at z=4 (8] Al BBl
) Find E at points: '
(a) PA(2557'5) (b) PB(4929'3) (C) PC(-la-Saz) (d) PD('2,455)
5. Find electric field due to infite sheet change. [8] Understanding = CO1
- A Line chang"é'density of 24 nC/m is located in free space on the line y;l; z=2.

- (b) what point change Q should be located at Q (-3,4,1) to couse Ey to be equal to zero
catP.




uorssaxdxy s) 9ALIIQ PUB A PUEg MO.LIEN JO UoneIdudd ay) urejdxy --0

103sISa1 5 0T Ul d1edissip anem A4 siy3 [|im 1amod Jeym (@
uoneinag wnuwixelNl  (p
xapui SunenpoiN (2
Aduanbau4 Suneinponn (9
Aduanbaug saue)y (e
Suimop[oj oY) durwIdRQ
(J0STI WS § +1,01X9)s0D T = (1A Aq payudsaxdau st A U0} ABWS V -€-O

ESI0AI A PUB A d Woj JA € Suneioudd
3o wreaSeIp YI0[q AL ‘A PUE N UIMIIq digsuone[dy 343 3AID -7-0

jeudisind (@
jeudiSnd (9
jeudis NV (e

Suimojjoy yo uonenby parepuels 3y} A1 [-O

(yoea syJeN §
A11e2 WAy} Jo 1531 pue SHIe € salsed T-D “Alosindwio) aJe sanp IIv) z-3un

peo| 5(0f+0s) e Aq
pajuasaidal aq 03 euudjue ay} Sujwnsse Jal44ed 343 0 apnyjdweeadayy (2
Aauaidiyyd uoissiwsuesy ayl (g
Jamod Jauied 3y (B
21e|ndje) "£0L"0 JO X3pul uone|npow e yum |eusis jepoisnuis e Aq pajejnpow
S J9111BD 3y} UBYM M| 0§ JO Jamod |e10} e SHWSURJ) UOIje)S Jsedpeolq INY udnIS v -S-0

weaSeiq )o0[g YHM JaA1ad31auApolalaysadng utejdx3 -p-0

[eusIS gSS JO UONEIdUIT YY) 10§ POYIIW UONBUIWLIISI( dseYd 3} urepdxy -¢-O
JIAIIINY € JO ANADISUIS puk AJANIB[RS dulydd -7-O

"XopuJ uone[npoA Uy -1-0

(4aed SyIBW @ SILLIED SUONSINQ) ¢ SUIUIBuwIdl 3Y) woay 7
Kue ydwony ‘Yoed syaew g sarLaed‘Arosindwo)) dae Z pue | sanQ) [- uq

0OF BN "XeA
uonedUNWWo)) 3o[euy wb LA
(0207-924) I — LSHL SSVTIO
AD0TONHDAL ANV INFINIOVNVIA TYNOISSTA0Ud
A0 TLNLLLSNI VAYVHD VA V3IINVHS IV w

B

SINOY 7 :uonean(

LKA

uorssaadx 7 S) AL pue A pueg morieN Jo uonerdudd ayy uredxy -p-O

10351531 U 0T Ul 93edissip anem A4 SIy3 Jiim 1amod Jeym (3
uonelrag wnwixep (p
xapui Supenpoiy (9
Aouanbaig Sunenpon (g
Aduanbaig sauie) (e
SuIMO[[0] ) dUIULIA(
(40STT WIS § +3,01X9)50D T = (3)A £q pajyudsdada st A U0} ABWS ¥ -€-O

BSIIAIIA PUB JAJ WOty A &
Sunesouss Jo wesSerp YI0[q LD " Put Nd UIMIdq dIysuone[ay 3Yy) LD -0

leudisiid (@
leuiSNd (9
jeusis WY (e

Suimorjoy yo uonenby paepuels 3yl A [-O

(yoeo syteN
G A11ed wiay) Jo 1saJ pue SyJeA € saled T-0 *Atosindwo) ase sanp ||v) Z-Hun

peo| u(0f+0S) e Aq
pajuasaidal aq 0} euuljue 3y} ujwnsse Jal1ied 3y} 40 apnmyjdweseadayr (2
Aauapiyya uoissiwsuesyayl (q
Jamod jaluedayyl (e
a1e[ndje) “£0.°0 4O Xopul uoie|npow e yym [eusis jepoisnuls e Aq pajejnpow s
Jauiled ay) uaym My 0S Jo 1amod |e3o} e sywisuesy uoiels yseapeotq NIV uanid y -s-0

weaSeiq )o0[g Yum J9A192312uApoialaysadng utejdx3 -y-0

[eusIS gSS JO UONEIIUIS IY) 0] POYIOW UOHRUIWLIISI(] dseyd Y} urejdxq -¢-O
JIAID9Y B JO AJADISUIS pue ANANIIIS duydd -7-O

"Xapu] uoye[NPoN UL -1-O

(yo®.ad SyIBW ¢ SILLIBD SUONSINQ) ¢ SUIUTBWI ) W01}
7 Aue 3Jdwany ‘yoed syaew g saLued‘Arosinduio)) aae g pue | sanQ)) - Mun)

OF UL XeJA
uonedIUNWwo)) 3o[euy wb LH
(0202-9°4) 1 - LSAL SSV'ID
ADOTONHDAL ANV INAWADVNVIA TVNOISSHA0Ud
A0 ALN vmz_ VAAVHDVUVINVHS RIHS

SINOY 7 :uoneanq

KA




_u_au |vavm . o
;0 =()x .m
_m:w_m .«o wiojsuel] JonInoj oLowouosin urelqO "9

:UMOYs [eUSIS 3Y) JO ULIOJSUBI], JSLINO, ) SIS} *
“wojsuel ] 191N0, Jo santadoxd ot e .S P
fumsod [u]x = [u]f ‘[z +u—]x = [uld : [x" K= [ul€
[esned-uou Io [esne) P
JueLIBA JIYS 10 JUBLIBAUT YIYS ™D
Iesul[-UoON] 10 Jeaul'] 'q
orweuk( 1o ojels e
38 SWI)SAS
oY) IOYIOYM YOOUD SWAISAS Jw) SJAIOSIp SUIMO[[O} A 10 ‘€

@n(s+3)x P
(€ +12-)x
(+2-)x .g

(Dx e

Buimoy|oy oy YoIsys

wn

asimuayio ‘o = (DX
1S1S1- ‘T =@x :eudiseypiof
uuQQs WIS " uuy s0) = (Nx °q
1S WIS S + 36001 SO0 T = ()X B
‘poutad [eyuswepuny 1ot puyy drporrad are Kap J1 "suoseal
oA18 9ou 10 orporrad ore sjeudis SUIMO[[0) SY JYAYM dBlS T
‘syaemt jonba A1xed uonsanb yaeds pue aaz 1f Aue ydwa))y 30N

O ‘SHIEIA 'XBIA SINOY Z :uonean(

SuiaIsAg puv S|pUsi1s
YALSTNAS b — LA
(07-6107-9°4) I — LSAL SSVID

yndivy o
LAISS |

ADOTONHDOAL ANV INFNADVNVIN A<ZO—mmmm~vﬁa—
A0 ALNLLLSNI VAYVHOVIVIINVHS IIHS

E

-2 =%
(M08 =()x
_«Ew_m JO wioysuel], I9LINOJ o_boeoaow_b urelqO

:uUMOys [euSIs Y} JO WLIOJSUBI], JOLINO,] S} SUTULINS
“wojsuel ] JoumMo Jo sanxadoid sy [je S1e1s
 umsod [u]x = [u]€ ! [z+u-]x = [u]€ : [y]x"TIX = [ul4

[esnes-uou 10 [esne) P
JUeLIEA YIYS IO JUBLIRAUL YIYS O
Jesul[-uoN 1o reaury °q
SIwRUA(] 10 o1je}S "B

aIe SUID)SAS

oY) IOYIPYM YOOUD SWId)SAS Sull) S)IISIP Suimorioy 9y Iog

o (s +9)x v
(€+12-)x
(@+z-)x .ﬁ_
(»Hx =
Burmoy[oJ ot YoIyS
asimuay1o ‘g = (3)x
1S1S1- ‘7T = @x :[eudisay) o]
unQQS UIS " ULy S0y = (HNx q
1mpS WIS S + 36001 S0 7 = (Dx B
-pourad [eyuswepUNy JIoy) puly orporred axe Aay) J] “suoseal
aA13 9ou 1o orpoued ore s[eudls Fulmo[[0} Ui JOYROUYM 3lElS

T

‘syaew Jpnba A1xed uonsanb yaes pue a4 1f Aue ydwdany :3oN

b :SHEA "XEN

SWi23SAS puv S|PUsIS
YALSANWAS ¥ — LA
(07-6107-9°4) I — LSAL SSV'ID

¥NdivY
LIAISS

ADOTONHDOAL ANV INTFNADVNVIN TYNOISSTIOdd
A0 ALNLILSNI VAYVHOVIV3IINVHS IIHS

e

SINOY] 7 :uonean




Aﬂoib

( o)

2 «o@.&
%
Am 81y) Aouanbaiy moj Je sorytjdwe ay) 10y siojowered oy [[e Ae[no[e)

(z 813) Aouonbaiy moj 18 Joy1jdure ay) Jog siajowered ay) e aje[no[e)
(1 S13) Aousnbaiy moy ye seyydure ayy 1oy siojowered oy} [[e 21€[Mo[RD
10 JO [opow PHqAY [BUSIS [[BLIS UO 2)0U LIOYS & LM

"WAI0AY I, S JO[IA dA01d pue 911§

cJogrdure ue se sjoe Jolsisuen moy ‘eyijdwe ue stieyp

‘usonysanb aayf duv ydwiapy

Gras O 3 "
\

N en o

:9JON

OF ‘SYIBIN "XeN

5110131 S0[euV
HALSTWES b — LA 4T
(0207 Arenag?d) I1-LSALSSVTIO
AD0TONHOAL ANV INIWIDVNVIN TVNOISSAA0Ud
40 ALNLLLSNI VAYVHOVIVINVHS RIHS

INaISY

SINOY ¢ :uonean(

Mal

(+8)

297 AK O_V Ty ¥e@<T
Vv> )

(¢ 81y) Kouanbaiy moj ye Joi1jdure o) 1oy siarourered ay) [[e S)e[nd[e)
(z 313) Aouanbayy mof e oyjdure ay) JoJ sivjawered SY) [[e Ae[no[e)
(1 8y) Aousnbaiy mof Je 1oiyIjdure oy J0J s1aweled sy) [[e Ae[nd[e)
" L€ JO [opow pLIGAY [eUSIS [[BWS UO J)OU LIOYS B LIA

"WRI0AY I, S JO[[IA 2A01d pue 9181

JJoyrdwe ue se sjoe Jojsisues) moy ‘rdiyrdure ue st 1eyA

‘usonysanb aarf duv ydwiapy

oY) 59

— NS o

EINTN

OF SMEW XE

[IUTNFREIC | o_n=<~ .
YALSAWAS o — LA 4L
(0207 Arenaqaq) - LSAL SSVTIO
ADOTONHIAL ANV INTNADVNVIN TYNOISSAI0Ud
40 ALNLILSNI VAYVHD VU V3INVHS IMHS

—_—
2

Ansy

SINOY 7 :uonean(

L T——



VN AOW (AL

JAXX “TTVO (I dr'ava (1 ‘ssappe a9l "‘dTHT a
— SUONONIISUI JO UO1oUNJ Y} AL L0
Jeyep Jo Nqgg Suippe J1oj weidoxd aSenSue Ajquassy o (9°0
;o1durexs ojerdoxdde yum urejdxa

19151301 Sepy Jo juUOd Ay} orendiuew [[im J10ssadoid 9y} MOH <O

‘sojdwexad J[qeNns
M Jossaooxdoorur g8 Jo Spon Suissappe JUSIIP oY) SSNISI (Cale)

4(ss21pPY HOAHO8 LNO 10j wieidelq Burl], Meid (€0

“VATH ‘@ TOH TX X W/OI ‘dV L ‘Apedd dTV

(LXS) YIeN :SN1L)S UOTJBANIOR J19Y)} 91edIpu] *10559001dOIOTA]
¢g08 Jo aurd 3uimo[o3 Y1 JO Juruonouny oy ureldxg (T O
(SXT) Yre]A Juononnsuy uostredwod pue

uonoenqng U9MIdq AJLIB[ILISSIp pue Ayrepruuts oy st ey (Q
;apoado pue eyep uaam13q ysin3unsip [im Jossaooid mog (8 (10

‘n) suruiewd.1 wo.jy uonsan)
(LXG)S Aue ydwanv -K1ospndurod st (sxy) duo "ou uonsan ‘ALON

VN AON (Al

AAXX “TIVO (i di‘ava (i1 ‘sseappe 3q91 ‘ATHT(
— suoronIsul Jo uonouny syl AL L0
Jerep Jo 1qgg Suippe 10§ weiSoxd aSendue| Aquoassy A (90
;ordwexa ajeudoidde yum urejdxa

10951321 Seyy Jo jueuod Ay} spendiuewr [[iM 10ssa001d 9y) MOH (sO

‘sodurexa 91qenns
M Jossaooidororul ¢g0g Jo apowt SurssaIppe JUAIFFIP Y} SSNISIA &0

4(ss1ppY HOd)H08 LNO Joj weidei(q SuliL Meid (€0

“VA'TH ‘@T0H ‘TX 1X W/OI 'dvil ‘Apead ATV

(LxS) Ie]N :SNJE)S UOTIBATIOR JISY) 91edIpU] - 10S$9001d0IOTIA
¢g08 Jo aurd 3urmo[joy 2y} Jo Suruonouny oy urejdxyg (0
(sx1) JIeA Juononnsu] uostiedwood pue

uonoenqns UeaMIdq AJLIB[IWISSIp pue Aurepruns ays st 3eyM (Q
,apoado pue ejep usamidq ysingunsip [[Im Jossaooxd moH (8 (1O

‘n) suruIewdl wo.ay uonsand
(Lxg)s Aue ydwany -£10spndwod st (SXT) duo “ou uonsan) ‘ALON

op :SHIBIA XAl SInOH ¢ :uonean
sJdejIdu] pue 10ss330xdodIN -LOACLANS
AIFHALSANAS — L¥®LH youetd
(0Z0Z-AdvVNIgad) I - LSAL SSVI1O v wndIvY
A9OTONHDAL ANV INFWADVNVIN TVYNOISSAA0Ud L1INDISS

A0 ALNLILSNI VAYVHOVUVINVHS RIHS
)

S

op SHIBIA ‘XA sInoy z :uoneang
sadeLIAU] pue 10583301do.dIA -LOACANS
AIFHALSAINGS — L®LE youeld
(0z07-A¥VNUEgdA) 1 - LSAL SSVTIO
ADOTONHIAL ANV INAWADVNVIN TVYNOISSAA0Ud

40 ALILLLSNI VAYVHOVUVINVHS % HS
=

yndivy

LINISS




